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P+Q+)+ RST$T$ UV�W�X ���� YZ[\��

A

B C

D E

?
~P

P] N ^_ D
∠ACB]30◦,
∠ABC]60◦,
∠BDC]30◦,
∠BCD]60◦,
∠CDE]60◦,
∠CED]60◦.

P+Q+)+ RST$` $ aX �� �� Ubc��
A

B C

D E

- ~P P]G ^_ D
∠ACB]30◦,
∠ABC]30◦,
∠BDC]120◦,
∠BCD]30◦,
∠CDE]30◦,
∠CED]90◦.

P+Q+)+ RST$d $ e�f��b�� g �V Z� �[ YZ���\hZ��i
A

B C

D E

?
~P

P]j ^_ D
∠ACB]45◦,
∠ABC]45◦,
∠BDC]30◦,
∠BCD]60◦,
∠CDE]60◦,
∠CED]60◦.

P+Q+)+ RST$k $ l ��b�� UV Zb�Z[ U��f�VhZ��i
A

B C

D E

- ~P P]EG ^_ D
∠ACB]45◦,
∠ABC]30◦,
∠BDC]90◦,
∠BCD]60◦,
∠CDE]60◦,
∠CED]60◦.

P+Q+)+ RST$m $ n ZXop Z� q�V�rr UV Zb���\� ���i
A

B C

D E

?
~P

P]Ej ^_ D
∠ACB]60◦,
∠ABC]45◦,
∠BDC]60◦,
∠BCD]60◦,
∠CDE]60◦,
∠CED]90◦.

P+Q+)+ RST$s $
A

B

C

D E

?
~P

P] Nt ^_ D
∠ACB]30◦,
∠ABC]30◦,
∠BDC]60◦,
∠BCD]45◦,
∠CDE]30◦,
∠CED]30◦.

P+Q+)+ RST$u$
A

B

C

D E

?
~P

P]Et ^_ D
∠ABD]90◦,
∠ADB]60◦,
∠BDC]45◦,
∠BCD]90◦,
∠CDE]45◦,
∠CED]90◦.

P+Q+)+ RST$v $
A

B

C

D E

?
~P

P]j ^_ D
∠ABD]90◦,
∠ADB]60◦,
∠BDC]45◦,
∠BCD]90◦,
∠CDE]45◦,
∠CED]90◦.

P+Q+)+ RST$w $
AB

C

D E

?
~P

P]IN ^_ D
∠ACB]60◦,
∠ABC]60◦,
∠BDC]30◦,
∠BCD]120◦,
∠CDE]60◦,
∠CED]60◦.

P+Q+)+ RST$Tx $
A

B

C

D E

?
~P

P] NJ ^_ D
∠ACB]30◦,
∠ABC]45◦,
∠BDC]30◦,
∠BCD]60◦,
∠CDE]30◦,
∠CED]120◦.



P+Q+)+ RST$TT$
A

B

C

D E

?
~P

P] Ny ^_ D
∠ACB]45◦,
∠ABC]45◦,
∠BDC]60◦,
∠BCD]45◦,
∠CDE]30◦,
∠CED]30◦.

P+Q+)+ RST$T` $
A

B

C

D E

?
~P

P]y ^_ D
∠ABD]90◦,
∠ADB]45◦,
∠BDC]30◦,
∠BCD]90◦,
∠CDE]60◦,
∠CED]90◦.

P+Q+)+ RST$Td $
AB

C

D E

?
~P

P]Ej ^_ D
∠ACB]30◦,
∠ABC]30◦,
∠BDC]30◦,
∠BCD]90◦,
∠CDE]60◦,
∠CED]30◦.

P+Q+)+ RST$Tk $
A

B C

D E

- ~P P]z ^_ D
∠ACB]30◦,
∠ABC]30◦,
∠BDC]60◦,
∠BCD]60◦,
∠CDE]60◦,
∠CED]90◦.

P+Q+)+ RST$Tm $

A

B

C

D E

?
~P

P]Et ^_ D
∠ABD]30◦,
∠ADB]30◦,
∠BDC]60◦,
∠BCD]30◦,
∠CDE]60◦,
∠CED]30◦.

P+Q+)+ RST$Ts $
A

B C

D E

- ~P P]Et ^_ D
∠ACB]45◦,
∠ABC]60◦,
∠BDC]120◦,
∠BCD]30◦,
∠CDE]30◦,
∠CED]90◦.

P+Q+)+ RST$Tu $

A

B

C

D E

?
~P

P]II ^_ D
∠ACB]60◦,
∠ABC]60◦,
∠BDC]30◦,
∠BCD]120◦,
∠CDE]30◦,
∠CED]60◦.

P+Q+)+ RST$Tv $

A

B

C

D E

?
~P

P]Ej ^_ D
∠ABD]30◦,
∠ADB]30◦,
∠BDC]60◦,
∠BCD]30◦,
∠CDE]45◦,
∠CED]45◦.

P+Q+)+ RST$Tw $

A B C

D E

?
~P

P]G ^_ D
∠ABD]90◦,
∠ADB]45◦,
∠BDC]45◦,
∠BCD]45◦,
∠CDE]45◦,
∠CED]45◦.

P+Q+)+ RST$`x $
A

B

C

D E

?
~P

P] Nj ^_ D
∠ACB]45◦,
∠ABC]60◦,
∠BDC]90◦,
∠BCD]45◦,
∠CDE]60◦,
∠CED]60◦.{| }
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SAB SAC SAD SBC SBD SCD SCE�
−0.866 −0.500 � 0.433 −0.750 −0.144 −0.144

6:9�M�<�1; �4�2<3
�

4.619 −4.619 � −8.000 4.619 13.856 −9.238  �<31; 6^¡<3
¢

−6.364 −6.364 � 4.500 −4.500 −2.598 −2.598 £<¤�9^1; ¥<:439� �4��<2¦4;9§
¨

20.497 −14.494� −35.50320.497 39.834 −51.668
C<�^9� 6:4^M4� 6�<¤1:¦4;9§

©
−15.012−21.229� 16.743 −12.257−12.257−7.771 ª 4�«¬4; @9:9­­ 6:4^M<�231;9§

®
−13.064−17.846� 13.064 −6.762 −9.238 −9.238¯
45.033 � −52.00063.687 −45.033−63.68790.067°
15.588 � −18.00022.045 −15.588−22.04531.177±
17.898 −35.796� −35.79631.000 −35.796−35.796�²
−7.247 −14.000� 5.124 −5.124 14.000 −19.124��
−7.500 −12.990� 6.724 −5.490 −9.510 −9.510��
5.000 � −7.071 5.774 −2.887 −10.00011.547�¢
−16.743−33.486� 19.333 −9.667 −16.743−9.667�¨
4.041 −4.041 � −4.667 2.333 16.333 −16.166�©
26.000 � 0.000 13.000 −22.517−11.2586.500�®
19.033 −23.311� −38.06732.967 62.989 −47.978�¯
33.000 −33.000� −66.00057.158 −66.000−57.158�°
23.678 � −8.667 11.839 −20.506−10.2535.920�±
8.000 � −11.3148.000 0.000 −5.657 5.657�²
−17.035−5.091 � 23.270 −20.863−23.01513.121³´µ ¶·¸¹ �º»¼½¾¿º¾


